Tense, Mood, and Aspect, cont’d
Elicited by Sylvia Reed, 03/11/2008; Session 13; Track 109

OD #s correspond to questions from O. Dahl’s TMA Questionnaire.

1. Thug

e
cuddles
mhor
dha
agus
pogan
cuideachd.

give.past
3sm
cuddles
big
to.3sm
and
kiss.p
also

‘I gave him lots of hugs and kisses.’

Note: OD 88

2. Cha
do
lorg.
Bha
e
direach
air
falbh.

not
past
find
be.past
3sm
just
on
leave.vn

‘No, he had just left [when we arrived].’

Note: OD 89

3. Tha
e
a’
casadaich
fad’
na

tìde.

be.pres
3sm
prog
cough.vn
long
the.sf.gen
time.sf.gen

‘He’s coughing all the time.’

Note: OD 97

4. Bha
e
casadaich
fad’
na

tide.

be.past
3sm
cough.vn
long
the.sf.gen
time.sf.gen

‘He was coughing all the time.’

Note: OD 98

5. Nuair
a

ruigeas

an
t-airgead
tha
e
dol
a


when
WhComp
arive.relfut
the.sm
money.sm
be.pres
3sm
go.vn
tran

cheannach 
caora
thioclaìd
airson
a’
lass
aige.

buy.vn

sheep
chocolate
for
the.sf
girl
at.3sm

‘When the money arrives, he’s going to buy a chocolate sheep for his girlfriend.’

Note: OD 103

6. Nuair
a

rainig

an
t’airgead,
cheannaich
e
caora


when
WhComp
arive.past
the.sm
money.sm
buy.past
3sm
sheep

thioclaìd
airson
a

lass.

chocolate
for
poss.3sm
girl

‘When the money arrived, he bought a chocolate sheep for his girlfriend.’

Note: OD 100/101

7. Nuair
a

ruigeadh
an
t-airgead
cheannaicheadh
e


when
WhComp
arive.cond
the.sm
money.sm
buy.cond

3sm


caora
thioclaìd
airson
a

lass.

sheep
chocolate
for
poss.3sm
girl

‘When the money would arrive, he would buy a chocolate sheep for his girlfriend.’

Note: OD 102

8. Ma
gheibh
e
an
t-airgead
ceannaichidh
e
caora
thioclaìd.

if
get.fut
3sm
the.sm
money.sm
buy.fut

3sm
sheep
chocolate

‘If he gets the money, he will buy a chocolate sheep.’

9. Ma
gheibh
e
an
t-airgead
tha
e
a’
dol
a

if
get.fut
3sm
the.sm
money.sm
be.pres
3sm
prog
go.vn
tran

cheannach
caora
thioclaìd.

buy.vn

sheep
chocolate

‘If he gets the money, he’s going to buy a chocolate sheep.’

10. Ma
fhuair

e
an
t-airgead
[an dè], 
bithidh
e
air


if
get.past
3sm
the.sm
money.sm
yesterday
be.fut
3sm
perf

a’
chaora
thioclaìd
a
cheannach
[an
diugh].

the.sf
sheep
chocolate
tran
buy.vn

today

‘If he got the money yesterday, he will have bought the chocolate sheep today.’

11. Ma
fhuair

e
an
t-airgead
[an
dè]
bha
e
dol


if
get.past
3sm
the.sm
money.sm
yesterday
be.past
3sm
go.vn

a
cheannadh
a’
chaora
thioclaìd.

tran
buy.vn

the.sf
sheep
chocolate

‘If he got the money yesterday, he was going to buy the chocolate sheep.’

12. Nam
bitheadh
e
air
an
t-airgead
fhaighinn
[an
dè]

if.dep
be.cond.dep
3sm
perf
the.sm
money.sm
get.vn

yesterday

bhitheadh
e
air
a’
chaora
thioclaìd
a
cheannach

be.cond
3sm
perf
the.sf
sheep
chocolate
tran
buy.vn




[an diugh].

today

‘If he would’ve gotten the money yesterday, he would have bought the chocolate sheep.’
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